ozt

?_

© A% xkm 2y A7 5 E ¥ AE= 90km o]t}

® A% x o A=




@ f(-2)=8 ® f(0)=0

@ f(1) = -4

0 /(3)-4

0 s(8)



Fotod

O
=

92, & a9 #h

ax+5 A f(2)



y = —x+39] T g]e] o] opd L7

@ (

15
272

)



olE

3

SEEEEE

1
= —x

2

1
@y:§x+1

=——x ©y=

Qy

1 1
@y—§x+§

1
2

@ y=2x+




Al
al

x=2y+6=0 2 2L x AHEV} y AHO

@ -3

@0

@ 3

® 6

St
H

29



y=ax+b 9 I ZAA x AHo] 2,y HHo] 6 & m,
of tiste] a - b 9] FE2?



e,

-

st

a
a

02 2ol 371

R

NECEBEZE)

Cf-
=

Cf-
=

= 1
Ay = -2 x o Skl 12 A W,y ©] SUHEE

2 stolel.



9. Al H A(6,12),B(4,7),C(a,-8) 7} L&A flof 1S 1, a 9] g
TobH?

D
=%



o

B
el

Zo 7175 a, x

6x—3y—-9 =02 17

sholat.

?‘

W a-b+c G

[eig
=

c =t



+4 0 TRt A

2
=—-X

3



o
e
-

<A
2l

Hole?

Yol RNl

@ 2

™M

1

— |



13.

DAL y = ax + b 0] T LI} A 1AHEES 27| e
Gy =bx—aQ THZO mFO B AT HL9 (Fa %
)
@ @
L Y
[6) z
ol z
® @
Y Y
T
) z
®
L
0O z



14.

Q]
=

D1
@ -3

@ -2
® 3

Aty = ax O] 2} oh e et
Mz BhYS ), a o FH27

® 2

| yll

_\\ 4

-2 2 14
o '\ [ [z
L\




15.

S 787 PPt I IE BIloA B YA
Zala, °

Sy

1| W




o ot

©

124812 y = —4x — 5 9 y = ax + b o] o}

[e]

16.



.

ul






x=2¢dy=40]1 x

19.

® y=3x-2

@ y=-3x+2

DO y=2x+4

® y=3x-4

@ y=2x-2



20.

x Awo] 3 0|1, y Ao 9 o AHS THLL She ke

Fotofet.

®y=-3x+9

@ y=3x-9

@ y=-3x-9

® y=3x



234562

1

(A7)

@ 247 % ® 347 %

® 5AF %

@ 1A &
@ 4A =



22.

S40] B oo] QEHolS B L E
St A Aol A @ Eutol} wabo] LA
I FRHE doiA 2tk b TRt 5
o] A& st Fo| A7kt Ag) BAS
LFER o]t} o, Hojzk £

-

@® 10m/%E @ 20m/+E

@ 0.6km /& ® 1km/A1ZF

YA (km)
10+

81 T s T
6T~ 7K 1 1
at [0

T 1 1 1 1

2 1 1 1 1

4 1 1 1 |(.E_)
Of 10 20 30 407

® 0.1km/+



A x-2y+6=02 I ZoA x HH}y AHO| 2?7

@ -3 ® 0 @ 3 ® 6



+ 2y = -8 9] 5}L}e] 7} (5k, 2k) QD W, k O] FHS



SL

25. %1;1].1:2:}7@/;1' x+3y=6 9] :LEHE “Hg + le"% (a,O),(O,b) E}-j— s

o, a-b o] 327

® -4 @ 2 ® 4 @ 8 @ 12



® 3x-y+4=0
® 6x+3y+3=0

® 3x+y+2=0

@ 6x-3y+7=0

@ 3x-6y+3=0



® y=4x

@ x=-3

O x=4

®y=4

@ y=-3



y=z+4

3

y=—%z+§

U
R P
w7

-
o

=
B o
.
M
o %
ip T
S
T Yo
0o &

y Ly
op H :ﬂw
ﬂﬂ/MM(MM\ﬂW

.

] [}

2 @



29. o

oo

5 2 0] Aol WAl (-1,2) 9 A71E AAL AL

D 3x+y=8-x+y=4 @ 2x4+y=10,x-y=1
® 3x-2y=9,x+4y=17 @ x-y=-33x-y=-5

® 3x+y=5x+2y=5



ey
o
pal
E
o7
(o]
I
P
I
=
a .
of W
~ g
+ T
-t
I
N
RN
T o
e
o or

.

ol i

A A



=

AU, 2x —y = 4 ] 217

~

kel
=

ax+by—2:0°]ﬂ'

.

Ul i

B~



32, LAHAA x—ay-2=073x-2y+5 =02 LI} A2 HPL
o, &5 a o] gh-& FoHH?

1
© 3 @

DN =
[GCI Y
DO W
DO | ot



33.



